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In these three circuits the switches are closed and the bulbs are all lit.


(a)
All the switches are now opened.  



For each bulb, tick ONE box () to show what you think will happen to it.

bulb 1


bulb 2


bulb 3


Stays lit


Stays lit


Stays lit


Goes out


Goes out


Goes out


(b)
How would you explain your answers?

Tick ONE box ()


The bulb stays lit if it is connected to a positive and a negative battery terminal.


Breaking the circuit anywhere stops the current everywhere.


If the bulb comes before the switch, then opening the switch does not affect it.


The bulb stays lit as long as it has one connection to the battery.










bulb 1





bulb 3





bulb 2
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